

On the Inverse Spectral Problem for the One-dimensional Stark Operator on the Semiaxis

A.Kh. Khanmamedov*, Y.I. Huseynova

Abstract. We consider the Stark operator $T = -\frac{d^2}{dx^2} + x + q(x)$ on the semiaxis $0 \leq x < \infty$ with the Dirichlet boundary condition at the origin. The asymptotic behavior of the eigenvalues of this operator is studied. By the method of transformation operators, we study the spectral problem. We give a rigorous derivation of the main integral equation for the inverse problem.

Key Words and Phrases: Stark operator, Dirichlet boundary condition, Airy function, inverse spectral problem, main integral equation.

2010 Mathematics Subject Classifications: 34A55, 34L40

1. Introduction

Stark operator is of significant interest for the spectral theory. Many authors have studied various aspects of the direct and inverse spectral problems for this operator (see [2, 3, 4, 5, 6, 7, 10, 11, 12] and the references therein).

Consider a boundary value problem generated on the semiaxis $0 \leq x < \infty$ by a differential equation

$$-y'' + xy + q(x)y = \lambda y, \quad \lambda \in C, \quad (1)$$

with a boundary condition

$$y(0) = 0 \quad (2)$$

in the case where the function $q(x)$ is real and satisfies the conditions

$$q(x) \in C^{(1)}[0, \infty), \sigma_j(0) = \int_0^\infty x^j |q(x)| dx < \infty, j \leq 5, \quad (3)$$

*Corresponding author.

with $\sigma_j(x) = \int_x^\infty t^j |q(t)| dt$, $x \geq 0$, which are assumed to hold throughout the work.

In [12], the inverse scattering problem for the boundary value problem (1)–(2) was studied, where, in addition to (3), the potential $q(x)$ is subject to the additional condition

$$q(x) = o(x), x \rightarrow \infty. \quad (4)$$

Moreover, in [12], when solving the inverse problem, a formal derivation of the Gelfand-Levitan-Marchenko type main integral equation was given. In this regard, the question arises of a rigorous substantiation for a derivation of main integral equation.

In the present paper, by the method of transformation operators, we study the spectral problem for the boundary value problem (1), (2) in the class of potentials (3). We obtain a Marchenko-type integral equation for the problem (1)–(2). A rigorous derivation of this equation is given.

2. Preliminary information and asymptotic behavior of eigenvalues

We consider the unperturbed equation

$$-y'' + xy = \lambda y, \quad 0 \leq x < \infty, \quad \lambda \in C. \quad (5)$$

It is known [1] that (5) has a solution $f_0(x, \lambda)$ of the form $f_0(x, \lambda) = Ai(x - \lambda)$, where $Ai(z)$ is the Airy function of the first kind. It is clear that the spectrum of the problem (5), (2) is discrete and consists of the roots of the function $f_0(0, \lambda) = Ai(-\lambda)$. The function $Ai(-\lambda)$ has roots $\hat{\lambda}_n, n = 1, 2, \dots$, only on the positive semiaxis [1] and the following asymptotic equality is true:

$$\hat{\lambda}_n = g\left(\frac{3\pi(4n-1)}{8}\right), \quad (6)$$

where

$$g(z) \sim z^{\frac{2}{3}} \left(1 + \frac{5}{48}z^{-2} - \frac{5}{36}z^{-4} + \frac{77125}{82944}z^{-6} - \frac{108056875}{6967296}z^{-8} + \dots\right), z \rightarrow \infty.$$

From the well-known properties of Airy functions it follows that

$$\hat{\alpha}_n \stackrel{def}{=} \left(\int_0^\infty |f_0(x, \hat{\lambda}_n)|^2 dx\right)^{\frac{1}{2}} = Ai'(-\hat{\lambda}_n) = (-1)^{n-1} g_1\left(\frac{3\pi(4n-1)}{8}\right),$$

where

$$g_1(z) \sim \pi^{-\frac{1}{2}} z^{\frac{1}{6}} \left(1 + \frac{5}{48} z^{-2} - \frac{1525}{4608} z^{-4} + \frac{2397875}{663552} z^{-6} \dots \right), z \rightarrow \infty.$$

Moreover, the system of functions $\left\{ \frac{f_0(x, \hat{\lambda}_n)}{\hat{\alpha}_n} \right\}_{n=0}^{\infty}$ forms as an orthonormal basis for the space $L_2(0, \infty)$, i.e. the following equality holds:

$$\sum_{n=0}^{\infty} \frac{f_0(x, \hat{\lambda}_n)}{\hat{\alpha}_n} \frac{f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} = \delta(x - y), \quad (7)$$

where δ is the Dirac delta function.

Now we introduce the solution $f(x, \lambda)$ of the perturbed equation (1) with asymptotics $f(x, \lambda) = f_0(x, \lambda)(1 + o(1))$, $x \rightarrow \infty$. It follows from [13] that under the conditions (3) such solution exists and admits the following representation by means of a transformation operator:

$$f(x, \lambda) = f_0(x, \lambda) + \int_x^{\infty} A(x, t) f_0(t, \lambda) dt, \quad (8)$$

where the kernel $K(x, t)$ is a continuous function and satisfies the following relation:

$$|A(x, t)| \leq C \frac{1}{2} \sigma \left(\frac{x+t}{2} \right). \quad (9)$$

Hereinafter, C will denote various constants which do not depend on x, λ and n . By using the well-known properties of transformation operators (see, e.g., [14]) and (7), we find

$$f_0(x, \lambda) = f(x, \lambda) + \int_x^{\infty} \hat{A}(x, t) f(t, \lambda) dt, \quad (10)$$

where the kernel $\hat{A}(x, y)$ satisfies the equation

$$\hat{A}(x, y) + A(x, y) + \int_x^y \hat{A}(x, t) A(t, y) dt = 0. \quad (11)$$

The last equation and (9) imply

$$|\hat{A}(x, y)| \leq C \sigma_0 \left(\frac{x+y}{2} \right). \quad (12)$$

Let us now return to problem (1)-(2). Obviously, under condition (3), differential equation (1) together with boundary condition (2) defines in space $L_2(0, +\infty)$

a self-adjoint operator L_0 , which can be obtained by closure of the symmetric operator defined by equation (1) and boundary condition (2) on twice continuously differentiable finite functions (see [15]). Moreover, the spectrum of problem (1), (2) consists of simple eigenvalues $\lambda_n, n = 0, 1, 2, \dots$ and coincides with the set of roots of the function $f(0, \lambda)$, i.e., the equalities $f(0, \lambda_n) = 0, n = 0, 1, 2, \dots$, are true. Therefore, the eigenfunctions $\left\{ \frac{f(x, \lambda_n)}{\alpha_n} \right\}_{n=0}^{\infty}$ of problem (1), (2), where $\alpha_n = \sqrt{\int_0^{\infty} |f(x, \lambda_n)|^2 dx}$, form an orthonormal basis for the space $L_2(0, \infty)$, i.e., the following relation is true:

$$\sum_{n=0}^{\infty} \frac{f(x, \lambda_n)}{\alpha_n} \frac{f(y, \lambda_n)}{\alpha_n} = \delta(x - y). \tag{13}$$

Theorem 1. *Under conditions (3), the spectrum of the operator L consists of a sequence of simple real eigenvalues $\lambda_n, n \geq 0$, and the asymptotic formula*

$$\lambda_n = \left(\frac{3\pi(4n - 1)}{8} \right)^{\frac{2}{3}} + O\left(n^{-\frac{2}{3}}\right), n \rightarrow \infty \tag{14}$$

is valid.

Proof. By virtue of (8) we have

$$f(0, \lambda) = f_0(0, \lambda) + \int_0^{\infty} A(0, t) f_0(t, \lambda) dt. \tag{15}$$

From the well-known relation [1]

$$Ai(-z) \sim \pi^{-\frac{1}{2}} z^{-\frac{1}{4}} \sin\left(\zeta + \frac{\pi}{4}\right) [1 + O(\zeta^{-1})], \zeta = \frac{2}{3} z^{\frac{3}{2}}, z \rightarrow +\infty,$$

and the definition of the function $f_0(x, \lambda)$, it follows that

$$f_0(0, \lambda) = 2\lambda^{-\frac{1}{4}} \sin\left(\frac{2}{3}\lambda^{\frac{3}{2}} + \frac{\pi}{4}\right) [1 + O(\lambda^{-\frac{3}{2}})], \lambda \rightarrow +\infty. \tag{16}$$

On the other hand, as shown in [13], when the condition $Q_4 < \infty$ is satisfied, the relation

$$\int_0^{\infty} A(0, t) f_0(t, \lambda) dt = O\left(\lambda^{-\frac{3}{4}}\right), \lambda \rightarrow +\infty,$$

holds. From the last three relations we find

$$f(0, \lambda) = 2\lambda^{-\frac{1}{4}} \sin\left(\frac{2}{3}\lambda^{\frac{3}{2}} + \frac{\pi}{4}\right) + O\left(\lambda^{-\frac{3}{4}}\right), \lambda \rightarrow +\infty. \tag{17}$$

Let $\tilde{\lambda}_n = \left(\frac{3\pi(4n-1)}{8}\right)^{\frac{2}{3}}$. Then, for large values of n , by virtue of (17), the function $f\left(0, \tilde{\lambda}_n + \lambda\right)$ takes values of different signs at the ends of the segment $\left[-\tilde{\lambda}_n^{-\frac{1}{2}}, \tilde{\lambda}_n^{-\frac{1}{2}}\right]$. Therefore, there is a point belonging to this segment at which the function $f\left(0, \tilde{\lambda}_n + \lambda\right)$ vanishes. Let $f\left(0, \tilde{\lambda}_n + \delta_n\right) = 0$, $\delta_n \in \left(-\tilde{\lambda}_n^{-\frac{1}{2}}, \tilde{\lambda}_n^{-\frac{1}{2}}\right)$. Then, on the basis of (17) we conclude that

$$\sin\left(\frac{2}{3}\left(\tilde{\lambda}_n + \delta_n\right)^{\frac{3}{2}} + \frac{\pi}{4}\right) = O\left(\tilde{\lambda}_n^{-\frac{1}{2}}\right), \quad n \rightarrow \infty. \quad (18)$$

Since $\frac{2}{3}\left(\tilde{\lambda}_n + \delta_n\right)^{\frac{3}{2}} = \frac{2}{3}\tilde{\lambda}_n^{\frac{3}{2}}\left(1 + \frac{\delta_n}{\tilde{\lambda}_n}\right)^{\frac{3}{2}} \sim \frac{2}{3}\tilde{\lambda}_n^{\frac{3}{2}}\left(1 + \frac{3}{2}\frac{\delta_n}{\tilde{\lambda}_n}\right) = \frac{2}{3}\tilde{\lambda}_n^{\frac{3}{2}} + \tilde{\lambda}_n^{\frac{1}{2}}\delta_n$, $n \rightarrow \infty$, from (18) we get $\sin\tilde{\lambda}_n^{\frac{1}{2}}\delta_n = O\left(\tilde{\lambda}_n^{-\frac{1}{2}}\right)$, $n \rightarrow \infty$. Whence it follows that $\delta_n = O\left(n^{-\frac{2}{3}}\right)$, $n \rightarrow \infty$. Thus, the proof of the theorem is completed. \blacktriangleleft

3. Derivation of the main integral equation of the inverse problem

An important role in the solution of the inverse problem is played by the Marchenko-type integral equation. We put

$$\Phi_N(x, y) = \sum_{n=0}^N \frac{f(x, \lambda_n) f(y, \lambda_n)}{\alpha_n^2} - \sum_{n=0}^N \frac{f_0(x, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n^2}, \quad (19)$$

$$F_N(x, y) = \sum_{n=0}^N \frac{f_0(x, \lambda_n) f_0(y, \lambda_n)}{\alpha_n^2} - \sum_{n=0}^N \frac{f_0(x, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n^2}. \quad (20)$$

From the results of [8, 9] it follows that the sequences $\Phi_N(x, y)$ and $F_N(x, y)$ are uniformly convergent in each finite domain of variation of the variables x and y . Put $\Phi(x, y) = \lim_{N \rightarrow \infty} \Phi_N(x, y)$. By using (6), (13), (19) we find that the sequence $\int_x^\infty \Phi_N(x, y) g(y) dy$ converges to zero in quadratic mean. In what follows, for brevity, we will write this equality in the form

$$l \cdot i \cdot m \cdot (L_2(x, \infty)) \int_x^\infty \Phi_N(x, y) g(y) dy = 0.$$

Since $g(y)$ is a function with bounded support, integration in $\int_x^\infty \Phi_N(x, y) g(y) dy$ is, in fact, between finite limits. Passing to the limit as $N \rightarrow \infty$, we obtain

$$\lim_{N \rightarrow \infty} \int_x^\infty \Phi_N(x, y) g(y) dy = \int_x^\infty \Phi(x, y) g(y) dy = 0.$$

Thus, we have proved the identity

$$\int_x^\infty \Phi(x, y) g(y) dy = 0,$$

where $g(y)$ is an arbitrary function with bounded support. Therefore,

$$\Phi(x, y) = \lim_{N \rightarrow \infty} \Phi_N(x, y) = 0.$$

Let

$$F(x, y) = \sum_{n=0}^\infty \left\{ \frac{f_0(x, \lambda_n) f_0(y, \lambda_n)}{\alpha_n^2} - \frac{f_0(x, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n^2} \right\}. \quad (21)$$

Theorem 2. For any fixed $x \geq 0$, the function $A(x, y)$ from representation (7) satisfies the integral equation

$$F(x, y) + A(x, y) + \int_x^\infty A(x, t) F(t, y) dt = 0, \quad y > x. \quad (22)$$

Equation (22) is called the main integral equation of the Marchenko-type.

Proof. Consider representation (10). For $y > x$, it follows from (19) that

$$\begin{aligned} & \sum_{n=0}^N \frac{f(x, \lambda_n)}{\alpha_n} \frac{f_0(y, \lambda_n)}{\alpha_n} = \sum_{n=0}^N \frac{f(x, \lambda_n)}{\alpha_n} \frac{f(y, \lambda_n)}{\alpha_n} + \\ & + \int_y^\infty \hat{A}(y, t) \left\{ \sum_{n=0}^N \frac{f(x, \lambda_n)}{\alpha_n} \frac{f(t, \lambda_n)}{\alpha_n} \right\} dt = \\ = & \sum_{n=0}^N \frac{f_0(x, \hat{\lambda}_n)}{\hat{\alpha}_n} \frac{f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} + \Phi_N(x, y) + \int_y^\infty \hat{A}(y, t) \left\{ \sum_{n=0}^N \frac{f(x, \lambda_n)}{\alpha_n} \frac{f(t, \lambda_n)}{\alpha_n} \right\} dt. \end{aligned}$$

Further, using formulas (7) and (6), we obtain

$$\sum_{n=0}^N \frac{f(x, \lambda_n)}{\alpha_n} \frac{f_0(y, \lambda_n)}{\alpha_n} = \sum_{n=0}^N \frac{f_0(x, \lambda_n)}{\alpha_n} \frac{f_0(y, \lambda_n)}{\alpha_n} +$$

$$\begin{aligned}
& + \int_x^\infty A(x, t) \left\{ \sum_{n=0}^N \frac{f_0(t, \lambda_n) f_0(y, \lambda_n)}{\alpha_n} \right\} dt = \sum_{n=0}^N \frac{f_0(x, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} + \\
& + \sum_{n=0}^N \left\{ \frac{f_0(x, \lambda_n) f_0(y, \lambda_n)}{\alpha_n} - \frac{f_0(x, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} \right\} + \\
& + \int_x^\infty A(x, t) \left\{ \sum_{n=0}^N \frac{f_0(t, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} \right\} dt + \\
& + \int_x^\infty A(x, t) \left\{ \sum_{n=0}^N \left\{ \frac{f_0(t, \lambda_n) f_0(y, \lambda_n)}{\alpha_n} - \frac{f_0(t, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} \right\} \right\} dt = \\
& = \sum_{n=0}^N \frac{f_0(x, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} + F_N(x, y) + \int_x^\infty A(x, t) \left\{ \sum_{n=0}^N \frac{f_0(t, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} \right\} dt + \\
& + \int_x^\infty A(x, t) F_N(t, y) dt.
\end{aligned}$$

Comparing the last two equalities, we get

$$\begin{aligned}
\Phi_N(x, y) + \int_y^\infty \hat{A}(y, t) \left\{ \sum_{n=0}^N \frac{f(x, \lambda_n) f(t, \lambda_n)}{\alpha_n} \right\} dt &= \\
= \int_x^\infty A(x, t) \left\{ \sum_{n=0}^N \frac{f_0(t, \hat{\lambda}_n) f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} \right\} dt + & \\
+ \int_x^\infty A(x, t) F_N(t, y) dt + F_N(x, y). &
\end{aligned}$$

Fix x and denote the smooth function with bounded support contained in the interval (x, ∞) by $g(y)$. Multiplying both sides of the latter identity by $g(y)$, integrating with respect to y , we obtain

$$\begin{aligned}
\int_x^\infty \Phi_N(x, y) g(y) dy + \int_x^\infty \left[\sum_{n=0}^N \left(\int_y^\infty \hat{A}(y, t) \frac{f(t, \lambda_n)}{\alpha_n} dt \right) \frac{f(x, \lambda_n)}{\alpha_n} \right] g(y) dy &= \\
= \int_x^\infty F_N(x, y) g(y) dy + \int_x^\infty \left[\sum_{n=0}^N \left(\int_y^\infty A(x, t) \frac{f_0(t, \hat{\lambda}_n)}{\hat{\alpha}_n} dt \right) \frac{f_0(y, \hat{\lambda}_n)}{\hat{\alpha}_n} \right] g(y) dy + &
\end{aligned}$$

$$+ \int_x^\infty \left[\int_x^\infty A(x, t) F_N(t, y) dt \right] g(y) dy.$$

Passing to the limit as $N \rightarrow \infty$, for each smooth function $g(y)$ with bounded support we obtain

$$\begin{aligned} & \int_x^\infty \Phi(x, y) g(y) dy + \int_x^\infty \hat{A}(y, x) g(y) dy = \\ & \int_x^\infty F(x, y) g(y) dy + \int_x^\infty A(x, y) g(y) dy + \\ & + \lim_{N \rightarrow \infty} \int_x^\infty \left[\int_x^\infty A(x, t) F_N(t, y) dt \right] g(y) dy. \end{aligned}$$

Since $y > x$, we have $\hat{A}(y, x) = 0$. Moreover, as shown above, the identity $\Phi(x, y) = 0$ is true. Therefore, the relation

$$\begin{aligned} & \int_x^\infty F(x, y) g(y) dy + \int_x^\infty A(x, y) g(y) dy + \\ & + \lim_{N \rightarrow \infty} \int_x^\infty \left[\int_x^\infty A(x, t) F_N(t, y) dt \right] g(y) dy = 0 \end{aligned} \tag{23}$$

holds. We now show that

$$\begin{aligned} & \lim_{N \rightarrow \infty} \int_x^\infty \left[\int_x^\infty A(x, t) F_N(t, y) dt \right] g(y) dy = \\ & = \int_x^\infty \left[\int_x^\infty A(x, t) F(t, y) dt \right] g(y) dy. \end{aligned} \tag{24}$$

Note that for each $b > x$, uniformly with respect to $y \in (x, b)$, the following equality holds:

$$\lim_{N \rightarrow \infty} \int_x^b A(x, t) F_N(t, y) dt = \int_x^b A(x, t) F(t, y) dt. \tag{25}$$

Further, it follows from the definition of the function $F_N(x, y)$ and (6), (13) that the sequence $\int_x^\infty A(x, t) F_N(t, y) dt$ converges to the limit $A_0(x, y) = (I + \hat{A})(I + \hat{A}^*) A(x, y) - A(x, y)$ in quadratic mean, where I is a unit operator, and the operator \hat{A} is defined by the formula $\hat{A}h(y) = \int_y^\infty \hat{A}(y, s) h(s) ds$. From the last relations we find

$$A_0(x, y) = \int_y^\infty \hat{A}(y, t) A(x, t) dt +$$

$$+ \int_x^y \hat{A}(s, y) A(x, s) ds + \int_y^\infty \hat{A}(y, t) \int_x^t \hat{A}(s, t) A(x, s) ds dt. \quad (26)$$

If we consider the function

$$A_b(x, t) = \begin{cases} A(x, t), & x \leq t \leq b, \\ 0, & t > b, \end{cases}$$

then it can be similarly shown, that the equality

$$\lim_{N \rightarrow \infty} l \cdot i \cdot m \cdot (L_2(x, b)) \int_x^b A(x, t) F_N(t, y) dt = G(y, b),$$

is valid, where

$$\begin{aligned} G(y, b) &= \int_y^b \hat{A}(y, t) A(x, t) dt + \int_x^y \hat{A}(s, y) A(x, s) ds + \\ &+ \int_y^b \hat{A}(y, t) \int_x^t \hat{A}(s, t) A(x, s) ds dt + \int_b^\infty \hat{A}(y, t) \int_x^b \hat{A}(s, t) A(x, s) ds dt, \end{aligned}$$

for $x \leq y \leq b$. Further, using (8), (12), (26) and expression for $G(y, b)$, we obtain

$$G(y, b) \rightarrow A_0(x, y), b \rightarrow \infty.$$

Moreover, the last relation is true uniformly with respect to y . Indeed, due to formulas (8), (12), (26),

$$|G(y, b) - A_0(x, y)| \leq C\sigma_0(b) \rightarrow 0, b \rightarrow \infty.$$

On the other hand, taking into account (25), we obtain

$$\int_x^b A(x, t) F(t, y) dt = G(y, b)$$

for $y \leq b$. Therefore, we get

$$\lim_{b \rightarrow \infty} \int_x^b A(x, t) F(t, y) dt = A_0(x, y),$$

and this equality is true uniformly with respect to y taken from each finite interval (x, a) . Thus, we have proved that the improper integral $\int_x^\infty A(x, t) F(t, y) dt$ converges and the equality

$$\int_x^\infty A(x, t) F(t, y) dt = A_0(x, y)$$

is true. Taking into account that $l \cdot i \cdot m \cdot (L_2(y, \infty)) \int_x^\infty A(x, t) F_N(t, y) dt = A_0(x, y)$, we have

$$l \cdot i \cdot m \cdot (L_2(y, \infty)) \int_x^\infty A(x, t) F_N(t, y) dt = \int_x^\infty A(x, t) F(t, y) dt.$$

The last equality implies (24). Since $g(x)$ is an arbitrary function with bounded support, from (23) we finally obtain equation (22).

The theorem is proved. ◀

References

- [1] M. Abramowitz, I.A. Stegun (editors), *Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables*, National Bureau of Standards, Appl. Math., Ser., **55**, 1964.
- [2] F. Calogero, A. Degasperis, *Inverse spectral problem for the one-dimensional Schrodinger equation with an additional linear potential*, Lett. Nuovo Cim., 1978, **23(4)**, 143–149.
- [3] I.M. Guseinov, Ag.Kh. Khanmamedov, *On the inverse scattering problem for the one-dimensional Schrodinger equation with increasing potential*, Ukr. Mat. Zh., **70(10)**, 2018, 1390–1402; *English translation: Ukr. Math. J.*, **70(10)**, 2019, 1604–1618.
- [4] A. Its, V. Sukhanov, *A Riemann–Hilbert approach to the inverse problem for the Stark operator on the line*, Inverse Probl., **32**, 2016, 1–28.
- [5] A.P. Kachalov, Ya.V. Kurylev, *The method of transformation operators in the inverse scattering problem, The one-dimensional Stark effect*, J. Soviet Math., **5(3)**, 1991, 3111–3122.
- [6] E.L. Korotyaev, *Resonances for 1D Stark operators*, J. Spectral Theory, **7(3)**, 2017, 633–658.
- [7] E.L. Korotyaev, *Asymptotics of resonances for 1D Stark operators*, Lett. Math. Phys., **118(5)**, 2018, 1307–1322.
- [8] B.M. Levitan, *On the asymptotic behavior of the spectral function for a self-adjoint differential equation of the second order and its eigenfunction expansion, II*, Izv. Akad. Nauk SSSR, Ser. Mat., **19**, 1955, 33–58.

- [9] B.M. Levitan, *Inverse Sturm–Liouville Problems*, Nauka, Moscow, 1984 (in Russian).
- [10] Y. Li, *One special inverse problem of the second-order differential equation on the whole real axis*, Chin. Ann. Math., **2(6)**, 1981, 147–155.
- [11] Y. Lin, M. Qian, Q. Zhang, *Inverse scattering problem for one-dimensional Schrodinger operators related to the general Stark effect*, Acta Math. Appl. Sin., **5(2)**, 1989, 116–136.
- [12] M.G. Makhmudova, A.Kh. Khanmamedov, *On spectral properties of the one-dimensional Stark operator on the semiaxis*, Ukr. Mat. Zh., **71(11)**, 2019, 1579–1584; *English translation: Ukr. Math. J.*, **71(11)**, 2020, 1813–1819.
- [13] M.G. Makhmudova A.Kh. Khanmamedov, *Inverse spectral problem for the Schrodinger equation with an additional linear potential*, Theoretical and Mathematical Physics, **202(1)**, 2020, 58–71.
- [14] V.A. Marchenko, *Sturm–Liouville Operators and Their Applications*, Naukova Dumka, Kiev, 1977 (in Russian).
- [15] A.M. Savchuk, A.A. Shkalikov, *Spectral properties of the Airy complex operator on the semiaxis*, Funkts. Anal. Prilozh., **51(1)**, 2017, 82–98.

Agil Kh. Khanmamedov

Institute of Mathematics and Mechanics, The Ministry of Science and Education of Azerbaijan, B. Vahabzadeh 9, Baku, AZ1141, Azerbaijan;
Baku State University, Z. Khalilov 23, Baku, AZ1148, Azerbaijan;
Azerbaijan University, AZ1007, Baku, Azerbaijan;
Baku Engineering University, H. Aliyev 120, Baku, AZ0101, Azerbaijan
E-mail: agil.khanmamedov@yahoo.com

Yasemen I. Huseynova

Baku State University, Z. Khalilov 23, Baku, AZ1148, Azerbaijan
E-mail: y.huseynova@mail.ru

Received 30 May 2023

Accepted 26 July 2023